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THHE FHE X
2 2 ERETRH AR R oy S8 () A B3
REERLEE J7 bR 2 2 BE TR E SRR Sy 438y (B B
% 2 ERETRE 2R R oy 298 () A B3
HH FHE e AB | A1 AR | RuERE
E75Y8 69,361 693 87.01-88
Ei%78 69,361 693 96.01-97
BEE(A) 7,815 78 99.01-100
#2(B) 37,820 378 95.01-96
BE2(C) 23,726 237 95.01-96
- BEERIH— | 6,357 63 84.01-85
BEERIE | 6,357 63 87.01-88
- BEEERIH— | 2,957 29 82.01-83
BRI | 2,957 29 84.01-85
EeBIE TR | HEEREH—| 5,59 55 97.01-98
Gl HERLH | 5,590 55 97.01-98
EeBIE TR | EEREH—| 7,030 70 95.01-96
BN BEERH | 7,030 70 85.01-86
(TR BEEERIH— | 1,305 13 93.01-94
BEEERLE | 1,305 13 87.01-88
P —Ba— AR g HEMHE—| 1792 17 79.01-80
e HERE | 1,792 17 87.01-88
. HERIH—| 7,363 73 91.01-92
BRI | 7,363 73 88.01-89
TR s HERHE—| 149 1 85.01-86
BEERLE | 149 1 99.01-100
e e HERIH—| 15,128 151 87.01-88
BEERLE | 15,128 151 89.01-90
e o | BEEFRIH— | 3215 32 81.01-82
BRIy ern = | 3215 3 83.01-84
SRR HERHE—| 3,149 31 87.01-88
BRI | 3,149 31 87.01-88
SN HERIH—| 1,279 12 83.01-84
BEERIE | 1,279 12 91.01-92
SRR HERH—| 1,169 11 71.01-72
BEEERIE | 1,169 11 65.01-66
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JEHH B
B PE AE R R She
JEH FHE e
% 2 BRETRE 4R a5 5685 (E) A
REERLEE 7B % 2 BRETRE 3R AR oy D8R rE L EE
% 2 BRETRE 2R a4 288y (E) LA
JEHH RHE e A B | A2 A8 | B
B 6,357 127 81.01-82
E57e 6,357 127 90.01-91
TR HIE(C) 6,357 127 87.01-88
HERIH | 6357 127 79.01-80
BRI | 6,357 127 85.01-86
B 2,957 59 79.01-80
E57e 2,957 59 86.01-87
ENPALG: it FE(C) 2,957 59 75.01-76
HERH—| 2957 59 74.01-75
HERHEH | 2957 59 77.01-78
B 5,590 111 85.01-86
A E5'e 5,590 111 94.01-95
Ea%i.%ﬁ; FoTmEa | s 111 95.01-96
iakiats HERLH | 5.500 111 93.01-94
BEERIE | 5,590 111 95.01-96
B 7,030 140 85.01-86
A E57e 7,030 140 94.01-95
- Afi ;%; i #E(C) 7,030 140 95.01-96
S HERH | 7,030 140 91.01-92
BEERIE | 7,030 140 81.01-82
B 1,305 26 83.01-84
E57e 1,305 26 94.01-95
(s E(O) 1,305 26 91.01-92
HERIH—| 1,305 26 91.01-92
BERLE | 1,305 26 81.01-82
B 1,792 35 83.01-84
E57e 1,792 35 92.01-93
TR B HE(O) 1,792 35 87.01-88
HERH—| 1,792 35 74.01-75
BEERIE | 1,792 35 82.01-83
B 7,363 147 85.01-86
E57e 7,363 147 92.01-93
U — B AR — A EE IR ReETEE #12(B) 7,363 147 91.01-92
HERH—| 7363 147 89.01-90
BEERLE | 7,363 147 85.01-86

at REZEERLRE ST ES R VUR BBt — AR ER R 2 Z = RIR - HEHE BN -
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BIL BB 13E24E A BB (B AR S [ 55 2R E ]
HHE FHE W2 AB | AP ANE | oRUEE
B 149 2 83.01-84
HEL 149 2 96.01-97
TAEEE R BE(O) 149 2 99.01-100
HERH—| 149 2 81.01-82
HERIH | 149 2 87.01-88
B 15,128 302 85.01-86
HE 15,128 302 94.01-95
PSS R BE(B) 15,128 302 95.01-96
HERH—| 15,128 302 85.01-86
HERIH | 15,128 302 87.01-88
B4 3,215 64 77.01-78
HEL 3,215 64 79.01-80
FEEFAEEERE] 820 3,215 64 87.01-88
HERIH—| 3215 64 79.01-80
HERIH | 3215 64 79.01-80
B4 3,149 62 87.01-88
HE 3,149 62 98.01-99
SNERE TR #E(B) 3,149 62 95.01-96
HERIH—| 3,149 62 83.01-84
HERIH | 3,149 62 85.01-86
B 1,279 25 85.01-86
HEL 1,279 25 93.01-94
SNEEREH ENE $E2(B) 1,279 25 87.01-88
HERH—] 1,279 25 81.01-82
HERH | 1,279 25 87.01-88
B 1,169 23 75.01-76
HEL 1,169 23 80.01-81
ESqNpiES = FE(A) 1,169 23 75.01-76
HERIH—| 1,169 23 65.01-66
HERH | 1,169 23 63.01-64
o REREERLEE 7 HESR K VUF: —Hang— A B RERAG IR AT S A B = BIR - 2EEET
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HH A
BT RE T S IR ~ SR
HE Y= AR
7 A BRETR AR AR 7y 528R 53 (B DA
KREBERRIGE J7 M b 2 BRETRFE SRHEER 7 398k Iy (B A
i A BRETRH 2R R 7y 278853 (B DA
HH = B AR | B3R B | B
e 6,357 190 79.01-80
Hi3r 6,357 190 88.01-89
HEtREE #6357 190 83.01-84
HERH—| 6357 190 77.01-78
BRI H | 6357 190 83.01-84
e 2,957 88 77.01-78
Hi3r 2,957 88 84.01-85
B R ) | 2957 88 67.01-63
HERH—| 2957 88 72.01-73
HERHEH | 2957 88 72.01-73
e 5,590 167 83.01-84
4 Hi3r 5,590 167 93.01-94
E@%ﬁ;ﬂaﬁ; FoTmEa | s 167 91.01-92
e EERH— | 5,590 167 91.01-92
EER A | 5,500 167 95.01-96
e 7,030 210 83.01-84
T Hi3r 7,030 210 93.01-94
= ’g%?; T mEo | 700 210 91.01-92
e E¥ERLH— | 7,030 210 89.01-90
HERIH | 7,030 210 77.01-78
e 1,305 39 83.01-84
Hi3r 1,305 39 92.01-93
{ETEE ) | 1,305 39 91.01-92
EERLH— | 1,305 39 89.01-90
HERIH | 1,305 39 77.01-78
e 1,792 53 83.01-84
Hi3r 1,792 53 90.01-91
R B R e | 1,79 53 87.01-88
HERH—| 1,792 53 72.01-73
EER A 1,792 53 79.01-80
e 7,363 20 83.01-84
Hi3r 7,363 20 90.01-91
VOF? B4 — A EE M ETEE #12(B) 1,363 220 87.01-83
EHERH— | 7363 20 87.01-88
EER A | 7363 20 83.01-84

at REZEERLRE ST ES R VUR BBt — AR ER R 2 Z = RIR - HEHE BN -
EEFPIE HAR R ~ B ~ 880y = IHZ Ry 8 -
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HHE FHE W2 AB | B3P AE | RUEE
B 149 4 83.01-84

HEL 149 4 96.01-97

TAEEE R BE(O) 149 4 95.01-96
HERH—| 149 4 75.01-76

HERIH | 149 4 85.01-86

B 15,128 453 83.01-84

HE 15,128 453 92.01-93

PSS R BE(B) 15,128 453 95.01-96
HERH—| 15,128 453 83.01-84

HERIH | 15,128 453 85.01-86

B4 3,215 96 75.01-76

HEL 3,215 96 74.01-75

FEEFAEEERE] 820 3,215 96 79.01-80
HERIH—| 3215 96 75.01-76

HERIH—| 3215 96 77.01-78

B4 3,149 94 85.01-86

HE 3,149 94 97.01-98

SNERE TR #E(B) 3,149 94 91.01-92
HERIH—| 3,149 94 83.01-84

HERIH | 3,149 94 83.01-84

B 1,279 38 83.01-84

HEL 1,279 38 92.01-93

SNEEREH ENE $E2(B) 1,279 38 79.01-80
HERIH—| 1,279 38 79.01-80

HERH | 1,279 38 83.01-84

B 1,169 35 73.01-74

HEL 1,169 35 78.01-79

ESqNpiES = FE(A) 1,169 35 71.01-72
HERIH—| 1,169 35 61.01-62

HERH | 1,169 35 61.01-62

o REREERLEE 7 HESR K VUF: —Hang— A B RERAG IR AT S A B = BIR - 2EEET

FEERPIR HRFr R~ BISC ~ /=

TAZ GG 8




	第一類25萬(全國)
	第二類8萬(全國)
	第三類5萬(全國)

